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%HODMDU 3HQJDQWDU�$NXQWDQVL��
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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJXML� VHFDUD� HPSLULV� WHQWDQJ� SHQJDUXK�
SHQGHNDWDQ� EHODMDU� WHUKDGDS� KDVLO� EHODMDU� 3HQJDQWDU� $NXQWDQVL� ��� 3HQHOLWLDQ� LQL�
PHUXSDNDQ� SHQHOLWLDQ� EHUMHQLV� NDXVDWLI�� -HQLV� GDWD� DGDODK� GDWD� SULPHU�� 3RSXODVL�
GDODP� SHQHOLWLDQ� LQL� DGDODK� PDKDVLVZD� $NXQWDQVL� 6�� )DNXOWDV� (NRQRPL�
8QLYHUVLWDV�1HJHUL�3DGDQJ�SDGD� DQJNDWDQ�������������GDQ�������6DPSHO�GDODP�
SHQHOLWLDQ� LQL� DGDODK� VHEDQ\DN� ���� UHVSRQGHQ�� SHQJDPELODQ� VDPSHO� GLODNXNDQ�
GHQJDQ� WHNQLN� SXUSRVLYH� VDPSOLQJ� GHQJDQ� EHEHUDSD� NULWHULD�� $QDOLVLV� VWDWLVWLN�
\DQJ�GLJXQDNDQ�DGDODK�UHJUHVL�EHUJDQGD��+DVLO�SHQHOLWLDQ�LQL�PHQXQMXNNDQ�EDKZD�
�� ��� 3HQGHNDWDQ�PHQGDODP� EHUSHQJDUXK� VHFDUD� VLJQLILNDQ� WHUKDGDS� KDVLO� EHODMDU�
3HQJDQWDU� $NXQWDQVL� ��� ��� 3HQGHNDWDQ� VWUDWHJLV� EHUSHQJDUXK� VHFDUD� VLJQLILNDQ�
WHUKDGDS� KDVLO� EHODMDU� 3HQJDQWDU� $NXQWDQVL� ��� ��� 3HQGHNDWDQ� SHUPXNDDQ� WLGDN�
EHUSHQJDUXK� VHFDUD� VLJQLILNDQ� WHUKDGDS� KDVLO� EHODMDU� 3HQJDQWDU� $NXQWDQVL�� ���
3HQGHNDWDQ PHQGDODP�� VWUDWHJLV�� SHUPXNDDQ� EHUSHQJDUXJ� VHFDUD� VLOPXWDQ�
WHUKDGDS�KDVLO�EHODMDU�3HQJDQWDU�$NXQWDQVL����
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